Polar Test Practice Test Name

The polar coordinates of point P are given. Convert the polar coordinate to rectangular coordinates.
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Find an equivalent equation in rectangular coordinates.
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Find an equivalent equation in polar coordinates. Make sure to solve the equation for r.
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Find an equivalent equation in polar coordinates.
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Graph the equation. Make sure to show where the graph starts and the direction.
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The graph of a limacon curve is given. Without using your graphing calculator, determine whid|1 equation is correct for
the graph.
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